[leneHne HaTypanbHbIX Ynucen
5 Knacc
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Q9  YCTHbIA cyeT

1.83-67 = 2.56 %2 =
3.64: 8= 4. 400 — 290 =
5.64 * 2 = 6. 90+ 56 =
[.80:2= 38.123 + 57 =
9150:2= 10. 66" 7 =
Bbluncnure:

a) 19 *2*5=; 6)4*27*25=; B) 13*6"50=
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3agada

X*4 = 48
48 14 =12




[leneHune

48 — neaaumMoe
4 — neJINTEJb

12 — gyacTHOE

26:7=8; 100:5 = 20;
45:9=5; 63:9=7.
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HensBecTHbIN MHOXUTENb
4 *x =144
X=144:4

X =36

Pelwunte ypaBHeHMe
6*x=108
~ A X =108 :6
X=18



Heun3BecTHOEe aennmMmoe

X:8=13
X=13*8
X=104
PelunTe ypaBHeHKE:
X:.7=22
- X=22%7

@ X = 154



Heni3BeCTHbIN OennTernb

65:x=13
X=65:13
X=95
PelunTe ypaBHeHKE:
r7r:x=17
@ X=77:7

X =11



